REV REVISIONS
= S D DT15-08P * SYM DESCRIPTION DATE |APPROVED
A | REVISED PER E.Q. A14754 10/28/94] R.R.
A B | REACTIVATED PER E.O. P17409  [10/23/01] R.D.R.
=) S C | REVISED PER E.O. P 18200 6/16/03] RDR
D | REVISED PER E.O. PI940] /1-2006 | RDR.
- 8§40 -
@ 130 13.30] ~ 3D VIEW Let. 341 @110 12.19]
BLIND HOLE - 185 O - BLIND HOLE
¥ 425 110.80] | (30 10] (9 12] \ '3‘53[c8ri00]
#6-19 SCREW A0 e $4-20 SCREW
- [3.10] /
‘ - -
— ] @ . 062
2. 110 [1.57]
[55.12] —
1.780 :’___{ =
. =
[45.21] — % ?
| 435 -] ! 1.070 T 253
A [27.18]
[36.45] — o [6.411]
—N i ~
l  m—
| I R
L | ]
-—J Y > — ——— | 388 ———
6. MOUNTING SCREW TORQUE VALUES ARE AS FOLLOWS: [15.52] [35.261]
#6-19 SCREWS: 1342.0 IN-LB [1.474.23 N-M].
#4-20 SCREWS: 842.0 IN-iB [.90+.23 N-M].
VALUES VALID FOR PLASTITE 48 SCREWS ONLY.
5. RECCOMMENDED MOUNTING SCREWS (NOT INCLUDED): CAMCAR PLASTITE 48.
4. THIS RECEPTACLE MATES WITH DT06-08S%-sssx PLUG (x¥xs = ALL MODIFICATIONS.)
SIGNATURE & DATE PCB MOUNT EP CODE
3. SHELL MATERIAL: PLASTIC; FLANGE SEAL MATERIAL: RUBBER. DR ;r) HcKEE 10720706 RECEPTACLE The Deutsch Company
' i/, DEUTSCH 1.P D.
2. DIMENSION TOLERANCE: +.025 [.641, PANEL CUTOUT £.010 [.251. LI P CE /e 8-PINS STRAIGHT R Rt AL ave.
K 27 //- /008 DT SERIES HEMET, CALIF. 92545
|. DIMENSIONS ARE [N INCHES [mml. DTI5-08P
NOTES: AP | T Rlee o 1/ F-08) B - *
SCALE NONE | wt ENVELOPE pws cooe “TSHEET | OF )




REVISITONS

REV
D DT15'08P* SYM DESCRIPTION DATE | APPROVED
D SEE SHEET ONE /7-20-Db| Ry
R.100
[2.54]
R.070
‘ (1.781
D155
936 [3.94]
[23.77]
? 480 \Rtwgzl
‘ - 1475 -
te. 19 (37.47]
—— | 780 —w
[45.21]
R.250 4X
[6.35] < I
1936
Q [23.77)
e / !
“-—\/\_,) \
@ . 155
e | 475 = [3.94]
[37.47]
DT5-08PB DT15-08PC DT15-08PD e 1,780 =
cgﬂf;"g';ﬁ,, COLOR BLACK COLOR GREEN COLOR BROWN [45.21]
SIGNATURE & DATE PCB MO[N'I' EP :‘("{)li-
DR K. McKEE 10/20/06) RECEPTACLE The Deutsch Company
CHE | Qe (. 71060t . DEUTSCH 1.P.D.
e Volidbog 1)10°0 8 Plg? ssgg'élgHT HEMET. CALLF. 92545
NOTES: v | FReaat U o B | DT15-08P
SCALE NONE | wr ENVELOPE pws cope | SHEET p OF




